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2Ca+ 0:2=2 CaO
2Al(OH)s = Al20s3 + 3H20

SO: + H20 = H2SO:«

CaCOs = CaO + CO:z:



Tema: 3amMeleHMEe MEIM B PaCTBOPE XJIOPHAA
menu (II) xeme3om.

(cTp. 267, onbiT 17)



JaKpeEnneHHe.

1. Kak pa3nuuuTh peakiuyu 0OMeHa U pEaKIUK 3aMEeICHH S ?

2. ITpoBe/IN COOTBETCTBUE:

1. Peakmug 3amenieHus
2. Peakiist oOMeHa

3. Peakimms coequHeHUS
4. Peakuus pas3iioxKeHUs

A. 2A1(OH), =AL O, +3H,0
B. SO,+H,0=HSO,

C. 2K+ 2HCl=2KCI'+H

D. NaOH + HCl = NaCl + H,0
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AoMalllHee 3a5aH1e

[Taparpadsr: 9.3, 9.4,
y.3, 4 Ha cTp.160






